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300,000 9 12 32,400
03 SZYRHE =4 746,400 650,400 96,000
O3l A At S R 2 S|
50,000 x27E «12& 16,200
EERE SIS
100,000 4«12 4,800
O2WSS-&SHI 50,0003 x4 H «12& 2,400
el &=l 50,0003 *1,205% =12 723,000
Jl2Z&Hl 98,384 83,554 14,830
Jl=A| 98,384 83,554 14,830
201 B2 98,384 83,554 14,830
01 AtS2eld] 80,000 65,720 14,280
Ot~ 48,000
ORAM2Iet=3H| 48,000
O=g| 32,000
O HSFF=ESAHI 7,100
OHASH SRS 4,000
OS2HAZ AN 7,400
OJIIAMEL SRS EHI 4,000
O=ARIIgESRA S| 1,500
OMMSH SRS 3,000
OEAMZCEE SRS 5,000
02 =229l 18,384 17,834 550
033222 Al 18,384
OXNsSHENHERZ (2201) 15,000
OZMNERES 103,800 *22CH 2,284
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